Algebra Worksheet — Section 10.5 -

Factoring Polynomials of the form

x> +bx+c
Factor
1. x*+3x+2

3. x*+x-6

5 a'-2a-35
7. b +7b-8
9. x*—-4x-45
11. p*+12p+27
13. b*+3b-40

15. c*+11c+18

Solve each equation by factoring
17. x*+5x+6=0

19. Y —-y-T72=0

10.
12.
14,

16.

18.

20.

Name

Block

% —x—2
a +aq=12
b* +8b+16

¥y -y-6

Y —8y+15

b* +9b5+20

a* —15a+ 36

x2 +21x+100

5> -b-20=0

X -12x=-11




Algebra Worksheet — Section 10.5 - Name

Factoring Polynomials of the form Block __.

x* + bx + ¢ with GCFs-
Factor Completely
1. 2x* +6x+4 2. 4a"-12a+8
3. 104" +10-20 4. 7d* -14a-21
5 3y -15y+18 6. a’-5d"+4a
7. x'—15x +56x° 8. b'-3p°-100"
9. 2a°+8d’-64a 10. . 3a’ -94° - 54a
11. 9p* —54p+T72 C 12, 4y* -4y =24y
13,  3x* —21x* +10x° 14. 5x* —10x® - 75x°
Solve each equation by factoring
15. 3x*+15x+18=0 16. 2x* +16x+24=0
17.  5x%-35x+60=0 18, x+11x*—12x=0

19. 2)* +10y=28 20. 6% +36 =30y




Algebra Worksheet — Section 10.5
Factoring Polynomials of the form
x +bx+c
Factor
1. x> +3x+2
O 20001
3. % X0
(x4 3YA-2)

5. a-2a-35
(a-TYa+5)
7. b +7b-8
(b+%Yb—1)
9. x*—4x-45

(x9N xt5)

1. p*+12p+27
(Pt p+3)

13. b’ +3b-40
(b+3)Yb

15. ¢ +11lc+18
(craYcH )>

Solve each equation by factoring
17. x*+5x+6=0

(-51)

19. Y -y-72=0

(9,-%)

10.

12

14.

16.

18.

20.

Name
Block

Ky
7

¥ —%—2
(x-2Yxt1)
a+a-12
(a+Da-3)
b* +8b+16
(b+4)" o
y =y=—6

(- ,\,\u + ?\
.y -8y +15

(i ~JXLJ 3)
b2+9b+20

(b\— DX )‘1"4)
a’ —15a+ 36

((L M—' >

x> +21x+100

£ prime
b —b—20:0(5 —4)

I

(b+4)bt4)

2 -12x=-11

12x+0=0

(1, W)




Algebra Worksheet — Section 10.5
Factoring Polynomials of the form

x* + bx + ¢ with GCFs

Factor Completely

1. 2x*+6x+4 2.
2(x+2Yx +1)
3. 104’ +10-20 4.
10(a+2)(a-1)
. 3P —15y+18 6.
3(343(\5 -3)
7. xt —15x% +56x° 8.

¥2(x-TYx-%)

9. 24°+8d’-64a 10.

Qa (a+r¥Ya-4)

2 _54p+172 12.

q P- 4\(1:« 2)

13.  3x* —21x° +10x? 14.

¥*(3x* =21 x +10)

Solve each equation by factoring

15. 3x*> +15x+18=0 16.

£3-2)

17. 5x* —35x+60=0 18.

4,3)

19. 2)* +10y=28

20.

Name
Block

4a” —12a+ 8

4(a-2Ya-1)

Ta” ~14a—21

T(a-3a+1)

a° —5a° +4a
a(o.-4)a-1)
b* —3b° — 105

b* (o-5)b+2)

34’ - 9a° — 54a |
3a(a- (Yot 3)

4y’ — 457 —24y

4y(y-2?’ 3*2\

5x4 —10x* - 75%°
Sx? (x‘-»!)(x = )
2x* +16x+24 =0 {—'é 2\3

Hr11x2=12x=0 {O‘, ‘2.35

6y +36=30y ¢ \}
(2,3)




